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QUESTION 1

Which two features are deprecated in Network I/O Control 3 (NIOC3)? (Choose two.)
A. Class Of Service (COS) Tagging

B. Bandwidth Allocation

C. User-defined network resource pools

D. Admission control

Correct Answer: AC

Class of Service tagging and user-defined resource pools are deprecated in NIOC3.

QUESTION 2

An administrator is writing a kickstart script to upgrade an ESXi 6.x host. In which three locations can the script reside?
(Choose three.)

A. NFS

B. USB

C.HTTP

D. TFTP

E. PXE

Correct Answer: ABC

The installation script ( ks.cfg) can reside in any of these locations:
FTP HTTP/ HTTPS NFS Share USB flash drive CD/DVD device

Reference: http://kb.vmware.com/selfservice/microsites/search.do? language=en_USandcmd=displayKC
andexternalld=2004582

QUESTION 3

An administrator notices that there is an all paths down (APD) event occurring for the software FcoE storage. What is a
likely cause?

A. Spanning Tree Protocol is enabled on the network ports.
B. Spanning Tree Protocol is disabled on the network ports.

C. Spanning Tree Protocol is enabled on the storage processors.
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D. Spanning Tree Protocol is disabled on the storage processors.
Correct Answer: A

Prevent all paths down event on FcoE storage by disabling STP on network ports.

QUESTION 4

Refer to the Exhibit.

ESXiGroupl ESXiGroup2 VMGroup?2
e ESXi-A * ESXi-B ,_g;: -« \VM-A * VM-C
* ESXi-D * ESXiC q\ﬂ‘b - e VM-B * \V/M-D

*VMGroupl should not run on ESXiGroup2

— Rule2

* Separate VM-A and VM-C

—_ Rule3

* Separate VM-B and VM-D

aan  Ruled (DISABLED)

*Keep VM-B and VM-D together

An administrator has configured Distributed Resource Scheduler (DRS) groups and Affinity Rules as shown in the
Exhibit.

Based on the exhibit, which two statements are true? (Choose two.)
A. If ESXi-A and ESXi-D failed, VM-A and VM-B would not failover.
B. A new conflicting affinity rule will be disabled by default.

C. VM-B and VM-D can run on the same hosts.

D. The administrator must disable Rule3 in order to enable Rule4.

Correct Answer: BD
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If VM-VM affinity rules conflict with each other, the newer of the conflicting rules will be disabled.

Reference: http://virtualis.info/2014/07/20/vmware-vsphere-5-5-vsphere-5-5-minimums- maximums-numbers/

QUESTION 5

Which two statements are true regarding Storage Multipathing Plug-Ins? (Choose two.)
A. The default Path Selection Policy is VMW_PSP_MRU for iISCSI or FC devices.

B. The default Path Selection Policy is VMW_PSP_FIXED for iSCSI or FC devices.

C. VMW_PSP_MRU is typically selected for ALUA arrays by default.

D. VMW_PSP_FIXED is typically selected for ALUA arrays by default.

Correct Answer: BC

Reference: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%2Fcom.vmware.vcli.examples.doc%2Fcli_manage_
storage.6.5.html
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